Econ 200

Professor Leffler

Exam 3

Fall 2006


CHOOSE FOUR QUESTIONS.  Four bonus points for name, TA name, and section letter.
1.  A.  Explain the term “quantity discrimination” and give an example.

B-D True, false, explain.

B.  Since labor is the ultimate source of all production, profits to capitalists take from labor what is rightly labor’s. 
C.  The loud noise from an exuberant crowd at a Mariners game represents an inefficient economic externality to a beer seller who does not like baseball.

D. Successful collusion is more likely for a sealed bid auction (submit your bid in an envelope, highest bid wins) than for an oral auction (keep calling out higher bids until no one will beat the highest current bid).

2.  On a certain section of freeway, 3 cars can travel without impeding each other’s speed.  They all travel to and from work, and when the freeway is not congested, the trip takes 20 minutes.  Travel on the side streets takes 40 minutes.  Each succeeding car beyond 3 slows everyone by an additional 3 minutes.  All commuters value their time at $6 per hour.

A.  How many cars will use the freeway if access is unrestricted.  Explain why this is an inefficient use of the road.

B.  Explain how a system of tolls could lead to the efficient use of the road.

C.  Explain why a private owner would charge a toll that produced the efficient use of the road.  What is the efficient toll in this case?

D.  How does your answer in C. change if side streets become less congested as more drivers use the freeway.

3.  A.  Explain the term “free rider” and give an example.

B-D True, false, explain.

B.  Safeway may increase its profit by giving away coupons good on future purchases even if, as a result, the average price on future purchases falls.
C. The fact that some airplanes collide is evidence that there is too little air traffic control.

D.   If comparable worth legislation requires employers to pay 20 percent higher wages to clerical workers the likely effects include an increase in the average value of the work of clerical workers.
4.  A.  Explain the term “diminishing returns” and give an example.

B-D True, false, explain.

B  Assumed Fact - Workers with multiple facial tattoos earn, on average, less than 70 percent of what workers without facial tattoos earn.  This “fact” implies that the workers with multiple facial tattoos are discriminated against.
C  Wage cycles for jobs requiring higher education should not occur because of the incentives of speculators to take into account future changes in supply or demand.
D  The fact that the supply of labor may fall with increases in the wage is inconsistent with the law of demand.

5.  A.  Explain the phrase “statistical discrimination” and give an example.

B-D True, false, explain.

B.  Unemployment can result from shifts in demand even though total demand is unchanged.
C.  An increase in the minimum wage is expected to lead to reductions in fringe benefits to low wage workers.  

D.  A seller may be able to increase its profit by selling soup in various box sizes rather than offering soup on a per ounce basis.  

